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.SUBCKT RF1 IOUT VH VIN1 VIN2 VM

M1 N4 VIN1 N1 N1 pch L=1lu W=3.u M=1
M2 IOUT VIN2 N1 N1 pch L=1u W=3.u M=1
M3 N1 VH VDD VDD pch L=3u W=3.u M=2
M4 IOUT VM N3 VSS nch L=1u W=3u M=1
M5 N4 N4 VSS VSS nch L=3u W=3u M=1

M6 N3 N4 VSS VSS nch L=3u W=3u M=1
.ENDS

.SUBCKT RF2 IOUT VH VIN1 VIN2 VL VM

M1 N38 VIN1 N33 N33 pch L=1u W=3.u M=1
M2 N35 N35 N33 N33 pch L=1u W=3.u M=1
M3 N35 N35 N34 N34 pch L=1u W=3.u M=1
M4 IOUT VIN2 N34 N34 pch L=1u W=3.u M=1
M5 N33 VH VDD VDD pch L=3u W=3.u M=2
M6 N34 VH VDD VDD pch L=3u W=3.u M=2
M7 IOUT VM N36 VSS nch L=1u W=3u M=1
M8 N38 N38 VSS VSS nch L=3u W=3u M=1
M9 N35 VL VSS VSS nch L=3u W=3u M=2
M10 N36 N38 VSS VSS nch L=3u W=3u M=1
.ENDS

.SUBCKT RF3 IOUT VH VIN1 VIN2 VL VM

M1 N33 VIN1 N37 N37 pch L=1u W=3.u M=1
M2 N35 N35 N37 N37 pch L=1u W=3.u M=1
M3 N35 N35 N40 N40 pch L=1u W=3.u M=1
M4 N34 N34 N40 N40 pch L=1u W=3.u M=1
M5 N34 N34 N38 N38 pch L=1u W=3.u M=1
M6 IOUT VIN2 N38 N38 pch L=1u W=3.u M=1
M7 N37 VH VDD VDD pch L=3u W=3.u M=2
M8 N40 VH VDD VDD pch L=3u W=3.u M=2
M9 N38 VH VDD VDD pch L=3u W=3.u M=2
M10 N33 N33 VSS VSS nch L=3u W=3u M=1
M11 N35 VL VSS VSS nch L=3u W=3u M=2
M12 N34 VL VSS VSS nch L=3u W=3u M=2
M13 N39 N33 VSS VSS nch L=3u W=3u M=1
M14 IOUT VM N39 VSS nch L=1u W=3u M=1
.ENDS

.SUBCKT CFINV AIN AOUT VH VL VM

M1 N38 N38 VSS VSS nch L=3u W=3u M=10
M2 N2 N34 AIN VSS nch L=0.4u W=3u M=1
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M3 AIN N38 VSS VSS nch L=3u W=3u M=1
M4 N35 N38 VSS VSS nch L=3u W=3u M=1
M5 AOUT VM N35 VSS nch L=1u W=3u M=1
M6 N33 VH VDD VDD pch L=3u W=3.u M=1
M7 N38 VM N33 VDD pch L=1u W=3.u M=1
M8 N2 N2 VDD VDD pch L=1u W=3u M=1

M9 N37 N2 VDD VDD pch L=1u W=3u M=1
M10 AOUT VM N37 VDD pch L=1u W=3u M=1
XSHPR2_1 N34 AIN VM VH VL VM SHPR2
.ENDS
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.SUBCKT FB1 IOUT VH VIN1 VIN2 VL VM
M1 VSS VIN1 N3 N3 pch L=1u W=3.u M=1
M2 IOUT VIN2 N3 N3 pch L=1u W=3.u M=1
M3 N3 VH VDD VDD pch L=3u W=3.u M=2
M4 IOUT VM N1 VSS nch L=1u W=3u M=1
M5 N1 VL VSS VSS nch L=3u W=3u M=1
.ENDS

.SUBCKT FB2 IOUT VH VIN1 VIN2 VL VM
C1 N2 VSS 1pF

M2 N2 VIN1 N1 N1 pch L=1u W=3.u M=1
M3 IOUT VIN2 N1 N1 pch L=1u W=3.u M=1
M4 N1 VH VDD VDD pch L=3u W=3.u M=2
M5 IOUT VM N3 VSS nch L=1u W=3u M=1
M6 N3 N2 VSS VSS nch L=3u W=3u M=1

M7 N2 VL VSS VSS nch L=3u W=3u M=1
.ENDS

.SUBCKT FB3 VG VIN1 VIN2 VL Gnd

M1 N2 VG VIN2 Gnd pch L=1u W=3.u M=1
M2 VDD VIN1 N2 VSS nch L=1u W=3u M=1
M3 N2 VL VSS VSS nch L=3u W=3u M=1
.ENDS

.SUBCKT FB4 VH VIN1 VIN2 VL VLS VM

Cl N34 VSS 2pF

C2 N35 VSS 0.075pF

.ic v(VIN2,VP)=0

M3 N36 N34 VSS VSS nch L=3u W=3u M=1

M4 VP VLS VSS VSS nch L=3u W=3u M=1

M5 VDD VIN1 VP VSS nch L=0.4u W=3u M=1
M6 N35 VL VSS VSS nch L=3u W=3u M=1

M7 N34 VL VSS VSS nch L=3u W=3u M=1

M8 VDD VH N33 VDD pch L=3u W=3.u M=1

M9 VIN2 N35 N36 VIN2 pch L=0.4u W=3.u M=1
M10 N33 VM VIN2 VDD pch L=1u W=3.u M=1
M11 N39 VM N37 VDD pch L=1u W=3.u M=1
M12 N35 N35 VP VP pch L=0.4u W=3.u M=1
M13 VDD VH N39 VDD pch L=3u W=3.u M=1
M14 N37 N35 N34 N37 pch L=0.4u W=3.u M=1
.ENDS

105



.SUBCKT FB5 AUX RB VIN1 VIN2 VL

Xinvli_1 RB N1 invil

M1 AUX RB VIN2 AUX pch L=0.4u W=0.6u M=2
M2 VDD VIN1 AUX VSS nch L=1u W=3u M=1

M3 AUX VL VSS VSS nch L=3u W=3u M=1

M4 VIN2 N1 VIN2 AUX pch L=0.4u W=0.6u M=1
.ENDS

.SUBCKT SHPR2 AOUT NEG POS VH VL VM

M4 N9 VH Vdd Vdd pch L=3u W=3.u M=2

M5 N7 NEG N9 N9 pch L=1u W=3.u M=20

M6 N11 POS N9 N9 pch L=1u W=3.u M=20
M7 N7 VL Vss Vss nch L=3u W=3u M=2

M8 N11 VL Vss Vss nch L=3u W=3u M=2

M9 AOUT VM N7 Vss nch L=1u W=3.u M=1
M10 N30 VM N11 Vss nch L=1u W=3.u M=1
M11 AQUT N30 N39 Vdd pch L=1u W=3.u M=1
M12 N30 N30 N42 Vdd pch L=1u W=3.u M=1
M13 N39 N42 Vdd Vdd pch L=1u W=3.u M=1
M14 N42 N42 Vdd Vdd pch L=1u W=3.u M=1
.ENDS

.SUBCKT FBAMP VH VIN VL VM VOUT Gnd

M1 VDD N1 VOUT VSS nch L=0.4u W=3u M=10
M2 VOUT VL VSS VSS nch L=3u W=3u M=10
R3 Gnd N4 1K TC=0.0, 0.0

R4 N4 VOUT 9K TC=0.0, 0.0

XSHPR2_1 N1 N4 VIN VH VL VM SHPR2

.ENDS
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* Main circuit: TESTRF1
XBIAS_1 N2 VH VL VM Gnd BIAS
XBIAS_2 N1 VH1 VL1 VM1 Gnd BIAS

.op

.global VSS VDD

.options

2 Rpr1 !
out

/L

/My VH

1
TViE VTiL

VDD
I

N
SHPR2 ax

=1y

P \H N VL,
PN YT Y

V)
<C
s

VHL

VH—e

VML

VMi—e

VL1

VL®

0 14:RF1IO00000000000OD0

XPOWER_1 VDD VSS Gnd POWER

XRF1_1 N4 VH1 AIN N4 VM1 RF1
XRF1_2 N4 VH1 AIN N4 VM1 RF1
XRF1_3 N4 VH1 AOUT N4 VM1 RF1
XSHPR2_1 AQUT N4 VM VH VL VM SHPR2
il VDD N2 100uA

i2 VDD N1 1u

v3 AIN Gnd pulse(0 -25m 1lu 1u 1lu 5u 200u)

.tran 5n 12u

.print tran v(AIN) v(AOUT)
* End of main circuit: TESTRF1
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* Main circuit: TESTCFINV

XBIAS_1 N33 VH VL VM Gnd BIAS
XBIAS_2 N35 VH1 VL1 VM1 Gnd BIAS
XBIAS_3 N39 VH2 VL2 VM2 Gnd BIAS

C1 N37 N38 2pF

C2 N34 AOUT 0O.2pF

XCFINV_1 N38 N34 VH1 VL1 VM1 CFINV
.op

.global Vss Vdd

.options reltol=1.e-8 abstol=1.e-16 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XRF2_1 N37 VH1 AIN N37 VL1 VM1 RF2
XRF2_2 N34 VH2 AOUT N34 VL2 VM2 RF2
XSHPR2_1 AOUT N34 VM VH VL VM SHPR2
i3 VDD N33 100uA

i4 VDD N35 20u

i5 VDD N39 2u

v6 AIN Gnd pulse(-25m 25m 1u 1lu 1u 5u 200u)
.tran 5n 12u

.print tran v(RST) v(AIN) v(AOUT)

* End of main circuit: TESTCFINV
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.SUBCKT prC AIN AOUT VH VL VM

M1 N2 AIN GND GND pch L=0.5u W=8u M=100
M2 N2 VL Vss Vss nch L=3u W=3u M=11
M3 AQUT VM N2 Vss nch L=1u W=3.u M=1

M4 AOUT VM N1 Vdd pch L=1u W=3.u M=1

M5 N1 VH Vdd Vdd pch L=3u W=3.u M=1
.ENDS

* Main circuit: TESTRF2

XBIAS_1 N27 VH VL VM Gnd BIAS

XBIAS_2 N8 N1 N3 N4 Gnd BIAS

C1 N2 AOUT 0.1p

C2 TP N2 0.1p

.op

.global Vss Vdd

.1ib ’mm0355v.1’ TT

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER
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XprC_1 N2 AQUT VH VL VM prC

XRF2_1 N2 N1 AOUT VM N3 N4 RF2

i3 VDD N27 100uA

i4 VDD N8 10n

v5 TP Gnd pulse(0 -20m 1u 10n 10n 100u 200u)
.tran 10n 20u

.print tran v(TP) v(AQUT)

* End of main circuit: TESTRF2
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* Main circuit: TESTFB1

XBIAS_1 N1 VH VL VM Gnd BIAS

XBIAS_2 N68 N65 N71 N69 Gnd BIAS

C1 N70 AOUT 0.1p

C2 TP N70 0.1p

.op

XFB1_1 N70 N65 AQUT VM N71 N69 FB1

.global VSS VDD

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprC_1 N70 AOUT VH VL VM prC

i3 VDD N1 100uA

i4 VDD N68 10n

v5 TP Gnd pulse(0 -20m 1u 10n 10n 100u 200u)
.tran 10n 20u

.print tran v(TP) v(AOUT)

* End of main circuit: TESTFB1
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* Main circuit: TESTFB2

XBIAS_1 N27 VH VL VM Gnd BIAS

XBIAS_2 N6 N5 N1 N3 Gnd BIAS

C1 N2 AQUT O.1p

C2 TP N2 0.1p

.op

XFB2_1 N2 N5 AOUT VM N1 N3 FB2

.global Vss Vdd

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprC_1 N2 AQUT VH VL VM prC

i3 VDD N27 100uA

i4 VDD N6 10n

i5 VDD N2 20p

v6 TP Gnd pulse(0 -20m 1u 10n 10n 100u 200u)
.tran 10n 20u

.print tran v(TP) v(AOUT)

* End of main circuit: TESTFB2

112



F rFB3OUOOOODOOoOOOOOOOOO

o
—
S
)
||
I
- Lot
z
Uil A|NP|’ C
VDD !
vdd —e R Vi
POVER s
Vss _.VSS
2 FB3 !
L V6
VDD— O0uA VDII:)— u
O[Tt (D] @ | (D
< oM < wio
N, Lot ey, %

0O 20: FB3OOOOODODODOOOOODOOO

* Main circuit: TESTFB3

XBIAS_1 N27 VH VL VM Gnd BIAS

XBIAS_2 N2 N1 N3 N4 Gnd BIAS

C1 N6 AQUT O.1p

C2 TP N6 0.1p

.op

XFB3_1 N7 AQUT N6 N3 Gnd FB3

.global VSS VDD

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprC_1 N6 AQUT VH VL VM prC

i3 VDD N27 100uA

i4 VDD N2 8u

v N7 Gnd -1.3

v6 TP Gnd pulse(0 -20m 1u 10n 10n 100u 200u)
.tran 10n 20u

.print tran v(TP) v(AOUT)

* End of main circuit: TESTFB3
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* Main circuit: TESTFB4

XBIAS_1 N11 VH VL VM Gnd BIAS

XBIAS_2 N1 N5 N6 N4 Gnd BIAS

XBIAS_3 N12 N9 N3 N8 Gnd BIAS

C1 N2 AOUT 0.1p

C2 TP N2 0.1p

.op

XFB4_1 N5 AQOUT N2 N6 N3 N4 FB4

.global VSS VDD

.options reltol=1.e-10 abstol=1.e-20 numnd=1000 numnt=100 linearsolver=spars
XPOWER_1 VDD VSS Gnd POWER

XprC_1 N2 AQUT VH VL VM prC

i3 VDD N11 100uA

i4 VDD N1 10n

i5 VDD N12 7u

v6 TP Gnd pulse(0 -500m 100u 10n 10n 300u 350u)
.tran 10n 250u

.print tran v(TP) v(RST) v(AQUT)

* End of main circuit: TESTFB4
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* Main circuit: TESTFBb5

XBIAS_1 N25 VH VL VM Gnd BIAS

XBIAS_2 N4 N7 N3 N5 Gnd BIAS

C1 N1 AOUT 0.1p

C2 TP N1 0.1p

.op

XFB5_1 RB AOUT N1 N3 FB5

.global VSS VDD

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprC_1 N1 AOUT VH VL VM prC

i3 VDD N25 100uA

i4 VDD N4 7u

v5 TP Gnd pulse(0 -20m 3u 10n 10n 100u 200u)

v6 RB Gnd pulse(-1.65 1.65 1u 10n 10n 100u 200u)
.tran 10n 20u

.print tran v(RB) v(TP) v(AOUT)

* End of main circuit: TESTFB5
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* Main circuit: TESTFBAMP

XBIAS_1 N2 VH VL VM Gnd BIAS

XBIAS_2 N7 N1 N4 N6 Gnd BIAS

C1 N9 N5 0.2p

C2 TP N9 0.2p

C3 VSS AOUT 1p

.op

XFB1_1 N9 N1 AOUT VM N4 N6 FB1

XFBAMP_1 VH AOUT VL VM N5 Gnd FBAMP

.global Vss Vdd

.1ib ’mm0355v.1’ TT

.options reltol=1.e-8 abstol=1.e-16 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprC_1 N9 AOUT VH VL VM prC

i4 VDD N2 100uA

i5 VDD N7 100n

v6 TP Gnd pulse(0 -100m 20u 10n 10n 300u 350u)
.tran 5n 100u

.print tran v(TP) v(RST) v(AOUT)

* End of main circuit: TESTFBAMP
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